

27.7 L'Hospital's Rule

$$\lim_{x \rightarrow 2} \frac{x^2 - 4}{x - 2} = \lim_{x \rightarrow 2} \frac{(x-2)(x+2)}{x-2} = \lim_{x \rightarrow 2} x+2 = 2+2 = 4$$

Indeterminate Form: When Limit gives $\frac{0}{0}$ or $\frac{\infty}{\infty}$.

L'Hospital's Rule

If $u(x) \neq v(x)$ are differentiable such that $v'(x) \neq 0$
and if $\lim_{x \rightarrow a} u(x) = 0$ and $\lim_{x \rightarrow a} v(x) = 0$

or $\lim_{x \rightarrow a} u(x) = \infty$ and $\lim_{x \rightarrow a} v(x) = \infty$

$$\text{then } \lim_{x \rightarrow a} \frac{u(x)}{v(x)} = \lim_{x \rightarrow a} \frac{u'(x)}{v'(x)}$$

p. 831

⑥

$$\lim_{x \rightarrow \infty} \frac{e^x}{x^2}$$

$$\lim_{x \rightarrow \infty} e^x = \infty \quad \text{and} \quad \lim_{x \rightarrow \infty} x^2 = \infty$$

Indeterminate form since $\frac{\infty}{\infty}$.

$$\lim_{x \rightarrow \infty} \frac{e^x}{x^2} \stackrel{\text{L.R.}}{=} \lim_{x \rightarrow \infty} \frac{\frac{d}{dx}(e^x)}{\frac{d}{dx}(x^2)} = \lim_{x \rightarrow \infty} \frac{e^x}{2x} = \frac{\infty}{\infty}$$

$$\lim_{x \rightarrow \infty} \frac{e^x}{2x} \stackrel{\text{L.R.}}{=} \lim_{x \rightarrow \infty} \frac{\frac{d}{dx}(e^x)}{\frac{d}{dx}(2x)} = \lim_{x \rightarrow \infty} \frac{e^x}{2} = \infty$$

Indeterminate Forms $\frac{0}{0}$ and $\frac{\infty}{\infty}$

$$\frac{\infty}{\#} = \infty$$

$$\frac{\#}{\infty} = 0$$

$$\frac{-\infty}{\#} = -\infty \quad \frac{\#}{-\infty} = 0$$

$$\textcircled{8} \lim_{x \rightarrow 1} \frac{\ln x}{x-1} \quad \lim_{x \rightarrow 1} \ln x = 0 \quad \lim_{x \rightarrow 1} x-1 = 0$$

Indeterminate form

$$\lim_{x \rightarrow 1} \frac{\ln x}{x-1} \stackrel{\text{L.R.}}{=} \lim_{x \rightarrow 1} \frac{\frac{1}{x}}{1} = \lim_{x \rightarrow 1} \frac{1}{x} = 1$$

$$\textcircled{10} \lim_{x \rightarrow 0} \frac{\ln \cos x}{x} \quad \lim_{x \rightarrow 0} \ln \cos x = 0 \quad \lim_{x \rightarrow 0} x = 0$$

Indeterminate form

$$\lim_{x \rightarrow 0} \frac{\ln \cos x}{x} \stackrel{\text{L.R.}}{=} \lim_{x \rightarrow 0} \frac{\frac{1}{\cos x} (-\sin x)}{1} = \lim_{x \rightarrow 0} -\frac{\sin x}{\cos x} = -\frac{0}{1} = 0$$

$$\textcircled{14} \lim_{x \rightarrow \infty} \frac{x^2 + x}{e^x + 1} \stackrel{\text{L.R.}}{=} \lim_{x \rightarrow \infty} \frac{\frac{d}{dx}(x^2 + x)}{\frac{d}{dx}(e^x + 1)} = \lim_{x \rightarrow \infty} \frac{2x + 1}{e^x}$$

$$\stackrel{\text{L.R.}}{=} \lim_{x \rightarrow \infty} \frac{\frac{d}{dx}(2x + 1)}{\frac{d}{dx}(e^x)} = \lim_{x \rightarrow \infty} \frac{2}{e^x} = \frac{2}{\infty} = 0$$

$$\textcircled{18} \lim_{z \rightarrow \infty} z e^{-z} = \lim_{z \rightarrow \infty} \frac{z}{e^z} \stackrel{\text{L.R.}}{=} \lim_{z \rightarrow \infty} \frac{1}{e^z} = 0$$

Indeterminate Form $0 \cdot \infty$ $\frac{6}{3} = 2$

$$\frac{0}{2} = 0 \quad \frac{0}{0} = ? \quad \frac{2}{0} = \text{undefined.}$$